
DH 752
UNIT 1 ILLUSTRATED PARTS BREAKDOWN

Edizione 2012
Rev. A



DH 752  PARTS LIST 
 

Key no. Part no. Description q'ty 

1 S/R FRONT FACEPLATE 1 

2 S/R BOLT ST4X12 46 

3 4512.509 WATER TANK 1 

4 4512.530 FILTER NET 1 

5 S/R 
BAFFLE OF BOBBER 
SWITCH 

2 

6 4512.514 BOBBER 2 

7 4512.512 INFRARED SEAT 1 

8 4512.513 INFRARED POLE 1 

9 4512.507 HUMIDITY SENSOR 1 

10 4512.526 HEAT EXCHANGER 1 1 

11 S/R 
MIDDLE SUPPORT 
BOARD 

1 

12 4512.500 FAN BLADE 1 

13 S/R HOUSING 1 

14 4512.534 HOUR COUNTER 1 

15 4512.529 FILM 1 

16 4512.508 DISPLAY PANEL 1 

17 S/R BOLT ST3X8 4 

18 S/R BOLT M6X40 4 

19 4512.531 HANDLE Ⅰ 1 

20 S/R WIRE PROTECTION Φ12 1 

21 S/R POWER CORD 1 

22 S/R 
CONNECTION BOARD OF 
MOTOR SUPPORT 

2 

23 S/R RIVET BOARD OF PCB 1 

24 S/R MOTOR SUPPORT 1 

25 4512.506 MOTOR 1 

26 S/R BACK SIDE 1 

27 S/R 
CONTROL PANNEL 
SUPPORT 

4 

28 4512.538 PCB 1 

29 4512.510 
CAPACITOR 1uF/450V 
(MOTOR) 

1 

30 S/R 
TRINE WIRE 
CONNECTION 

1 

31 S/R CAPACITOR HOOP 1 

32 4512.501 
CAPACITOR 25uF/450V 
(COMPRESSOR) 

1 

    

Key no. Part no. Description q'ty 

33 4512.520 
INFRARED SWITCH FOR 
WATER LEAK 

1 

34 4512.525 
INFRARED 
INSTALLATION BOARD 

1 

35 S/R CAPILLARY TUBE 1 

36 S/R PROCESS TUBEⅠ 2 

37 S/R 
REFRIGERATION-IN 
TUBE 1 

2 

38 4512.511 FILTER 1 

39 S/R SUCTION  TUBE 1 

40 4512.521 COMPRESSOR 1 

41 S/R NUT M8 3 

42 S/R ELASTIC WASHER Φ8 3 

43 S/R FACED WASHER Φ8 3 

44 4512.542 WHEEL 2 

45 S/R PIN Φ3X45 2 

46 4512.540 SHAFT 1 

47 S/R BOLT M6X30 2 

48 S/R BOLT M8X40 3 

49 S/R BOTTOM PLATE 1 

50 4512.532 HANDLE II 1 

51 4512.535 LEG WASHER 2 

52 4512.528 FACED WASHER Φ14 4 

53 4512.539 RING 2 

54 S/R WATER TANK CARD 1 

55 S/R WATER TANK FLAKE 1 

56 S/R DISCHARGE TUBE 1 

57 S/R 
TEMPERTURE SENCE 
HEAD BUSHING 

1 

58 4512.515 DEFROST SENSOR 1 

59 S/R THREE EXIT TUBE 1 

60 S/R 
REFRIGERANT ADDING 
VALVE 

1 

61 4512.541 WATER PLATE 1 

62 4512.537 MAGNET IV 2 

63 S/R WATER TANK PANEL 1 

64 4512.536 MAGNET III 2 

65 4512.533 HINGE 2 

 
S/R = Parts available on special request only 

 


	Strona 1

